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1. What is the average value of the following function over [0, 77

f(z) =sinx — sin 2z
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2. Find ¢ in [0, 2] such that f(c) is the average value of the function
J{z) = 2% over [0,2].
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3. What is the volume of the solid generated by rotating the region
between the curve y = /o — 1,z = 5, and y = 0 about the z-axis?
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4. Find the volume of the solid obtained by rotating the region
bounded by the curves y = %:{:2, r = 2, and ¥ = 0 abouf the y-axis.
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5. What is the z-coordinate of the center of mass of the region
bounded by the curves y = 4z, y = 0 and 2 = 17
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6. What is the y-coordinate of the center of mass of the region
bounded by the carves y =¢*, y =0, z =0, and z = 1.
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7. Fvaluate )
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8. Use integration by parts to compute
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9. What 1s
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10. Evaluate
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11, If we write @—T%%T) as a sum of partial fractions
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12. Evaluate the following integral
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13. Evaluate
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14. What is

(a) It diverges.

o [

!y)fgﬁfatl@fé }Jﬁ ]Dcaff“:a

e

i A&
we dx ===
e \,fx
foo 964
QX h

Hixy= —/€
.y

! ‘1 € =0 il

o0 SDE ) €
= f e oy = lim /
&

o>

o
/ xe” % dp?
9




15

5. What is
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